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Test Case Identification

PTS.STC.000.000 T2 AlSH

Test Case

PTS.STC.001.000 Bus: J =222 S NS+t BUS/ S/ Z2H3A: 1050

PTS.STC.001.001 Bus: BtsR=s S wES+E:BUS/sA/ ZHME%H 0

PTS.STC.001.002 Bus: 0| & 4tR3 FIOHES (KIotE->HADIE 4 WEL:BUS/SX/Z2H3Y 1750
PTS.STC.001.003 Bus: 01 &&=z FIHES (KIoHE 0184 wWESH:BUS/ S/ ZHINH 1250
PTS.STC.001.004 Bus: 0| &8AR= FIES (HA->XSHEOIE A WS+ :BUS/SX/Z2HSN 1650
PTS.STC.001.005 Bus: J|=2R3 OtXt WS+ BUS/oX/ Z2H3%:0

PTS.STC.001.006 Bus: Al2tH| el R 2 GtXt (30x Z 1t) WSt :BUS/otx/ ZH =100
PTS.STC.001.007 Bus: AlZ2tE|ell23 StXt 1 2 1) WS¢t :BUS/GHAL/ ZH3 : 200
PTS.STC.001.008 Bus: Al2tB|ell 23 Gt (4= &2 1) WS4 BUS/GHAL/ ZH 3 : 700




Test Case Identification

PTS.STC.002.000 Subway: Jl=2R= E5 WSt SUBWAY/ SXt / Z2H3H 1050
PTS.STC.002.001 Subway: SR = 35 nS=th: SUBWAY/ &SXt/ Z2H3%:0

PTS.STC.002.002 Subway: 0| & &tR3 FIHES WS+ :SUBWAY/ &SXt/ ZH 3% 1750

PTS.STC.002.003 Subway: 0| H A2 FIt €S (KIGHE 01 E A WSt SUBWAY/ &SXt/ Z2H 3% : 1250

PTS.STC.002.004 Subway: 0| & AR 3 FIHE

0l

wWESt: SUBWAY/ SXt/ Z2H 39 : 1650

(HA->XIGHEOIE A

PTS.STC.002.005 Subway: J| =R = Gt Xt WS4+ :SUBWAY/otXt / ZH3%:0

PTS.STC.002.006 Subway: JI= 2= ot At 2B AHE 0| =) WSt : SUBWAY /otXt / ZHI=A : 200
PTS.STC.002.007 Subway : Heldldl= ot Xt A AHE 01S) WSt : SUBWAY /ot Xt / 2 M= : 300
PTS.STC.002.008 Subway : HelHlellL= ot kXt (28 HE 01 S) WSt : SUBWAY / ot Xt / Z2 M= : 600
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Test Case Identification

Input Specification Output Specification

PTS.STC.003.000 Jl28 4o (Table1.1 & X) (B3&H B A s 1050, KIGHE : 1050

PTS.STC.003.001 J|28 b1 (Table1.1 & X (A HA 1210, KIGHE : 440

PTS.STC.003.002 Jl2 842 (Table 1.1 & =X) (BAHHA 92, XIGHE : 1058

PTS.STC.003.003 Jl= &84k g (Table 1.1 & L) (

0
2
&
>

11204, KIGHE : 344

PTS.STC.003.004 Jl= &4k 4 (Table 1.1 & X) (

0z
z
oE
>

11447, XNIGtE : 901




Table 1.1

HA J|285 SXt

XotHE 7|25 5%t

HAJ|=8e SA
> XotE gt 2 281 0l

Aot 7|l =8a SAt
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Test summary report

- Team 2

PTS.STC.000.000 PASS
PTS.STC.001.000
PTS.STC.001.001
PTS.STC.001.002
PTS.STC.001.003
PTS.STC.001.004 PASS
PTS.STC.001.005 PASS
PTS.STC.001.006 PASS
PTS.STC.001.007 PASS
PTS.STC.001.008
PTS.STC.002.000
PTS.STC.002.001
PTS.STC.002.002 FAIL
PTS.STC.002.003 PASS
PTS.STC.002.004 PASS
PTS.STC.002.005 PASS
PTS.STC.002.006 PASS
PTS.STC.002.007
PTS.STC.002.008
PTS.STC.003.000
PTS.STC.003.001 FAIL
PTS.STC.003.002 FAIL
PTS.STC.003.003 FAIL
PTS.STC.003.004 FAIL

;
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Test summary report

- Team 3
dentifier _ — — “Tpass/EAL

PTS.STC.000.000 PASS
PTS.STC.001.000 PASS
PTS.STC.001.001

PTS.STC.001.002
PTS.STC.001.003
PTS.STC.001.004
PTS.STC.001.005
PTS.STC.001.006
PTS.STC.001.007
PTS.STC.001.008
PTS.STC.002.000
PTS.STC.002.001
PTS.STC.002.002
PTS.STC.002.003
PTS.STC.002.004
PTS.STC.002.005
PTS.STC.002.006
PTS.STC.002.007
PTS.STC.002.008

PTS.STC.003.000
PTS.STC.003.001 FAIL

PTS.STC.003.002 FAIL
PTS.STC.003.003 FAIL
PTS.STC.003.004

g

ST

>
=

z
[



System Evaluation
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